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<IDOCTYPE html> <html><head>

<style>

#main {
width: 300px;  height: 300px; border: 1px solid #000;
display: flex;
flex-direction: column;
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}

#main div { width: 60px; height: 50px; }

img { width: 80%; height: 80% }

</style>

</head>

<body>

<div id="main">
<div ><img src="smile_01l.png" />A</div>
<div ><img src="smile_02.png" />B</div>
<div ><img src="smile_03.png" />C</div>
<div ><img src="smile_04.png" />D</div>

</div>
</body>
</html>
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flex—direction : column; g0, giraction : flex—direction : row; flex—direction :
column—reverse ; row—reverse ;
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<IDOCTYPE html> <html><head>

<style>

#main { width: 200px; height: 200px; border: 1px solid #000;
display: flex;

flex-wrap: wrap-reverse;
}
#main div { width: 70px; height: 50px;}
img { width: 70%; height: 80% }
</style>
</head>
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<body>

<div id="main">
<div><img src="smile_01.png" />A</div>
<div><img src="smile_02.png" />B</div>
<div><img src="smile_03.png" />C</div>
<div><img src="smile_04.png" />D</div>

</div>
</body>
</html>
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o flex-grow, flex-shrink, flex-basis &40 Cigt L& X|HE 4= A= HH0|Ck
» M7 — none | [ <flex-grow> <flex-shrink>? || <flex-basis> |
off |
<IDOCTYPE html> <html><head>
<style>
#main { width: 300px; height: 50px; border: 1px solid #000;
display: flex;
}
#main div { flexx 1 }
div#myRedDIV  { background-color:coral; }
div#myBlueDIV { background-color:lightblue; }
div#myGreenDIV { background-color:lightgreen; }
div#myPinkDIV { background-color:pink; '}
img { width: 70%; height: 80% }
</style>
</head> A B C D
<body>
<div id="main">
<div id="myRedDIV">A</div>
<div id="myBlueDIV">B</div>
<div id="myGreenDIV">C</div>
<div id="myPinkDIV">D</div>
</div>
</body>
</html>
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w 2M7F — flex-start | flex-end | center | space-between | space-around | stretch (7| 2)
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144 align-self &M
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» =MZE— auto (7|8) | flex-start | flex-end | center | baseline | stretch

Off |
<IDOCTYPE html> <html><head>
<style>
div#main { width: 250px; height: 200px; border: 2px solid #000000;
display: flex; o
A
align-items: center ==
} 8 e

div#main div { flex: 1}

img { width: 80%; height: 80% }
div#myRedDIV  { background-color:coral; }
div#myBlueDIV { background-color:lightblue; align-self: stretch }

div#myGreenDIV { background-color:lightgreen; }

div#myPinkDIV { background-color:pink; '}

</style>

</head>

<body>

<div id="main">
<div id="myRedDIV"><img src="smile_01l.png">A</div>
<div id="myBlueDIV"><img src="smile_02.png">B</div>
<div id="myGreenDIV"><img src="smile_03.png">C</div>
<div id="myPinkDIV"><img src="smile_04.png">D</div>

</div>

</body>

</html>
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— <length>, <%?>, <flex>, max-content, min-content, minmax(min, max), auto, none, subgrid
grid—template—columns: 100px 1fr max—content minmax(min—content, 1fr)

grid—template—rows: 1fr minmax(min—content, 1r)

grid—template—rows: 10px repeat(2, 1fr auto minmax(30%, 1fr))

grid—template—rows: §'balc(4em — 5px)
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grid—template—columns: 10px !’2500)( 10px 250px 10px 250px 10px 250px 10px 5px;

!

repeat(4, 250px 10px)

grid—template—rows:| repeat(2, (a) 1fr (b)).

i
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= <grid-template-columns> / <grid-template-rows>

grid—template—columns: auto 1fr auto;
» grid—template—rows: auto 1fr;
grid—template—areas: none

grid—template: auto 1fr auto / auto 1fr

» [<EFT|> /7 [ <2}RI0|E>7 <string> <E2F7|>? <2}RI0[E>7 ]+
grid—template: auto 1fr auto /
(h—top) “aaa” (h—bottom) -
(m—top) “b b b” 1fr (m—bottom) ki

grid—template—columns: auto 1fr auto;
grid—template—rows: (h—top) auto
(h—bottom m—top) 1fr (m—bottom);
grid—template—areas: “aa a”
‘bbb’
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3.1 content &M
» :before % :afterE 0|83l £ Q40| AO|Lt Fo| 2HXE FItg = J=F X
Hot= g0l
of| 5|
<IDOCTYPE html><html><head>
<style> SHRUESM D

p::before{content:open-quote;}
p:after{content:.close-quote;}
p.address:before{content:no-open-quote;}
p.address:after{content:no-close-quote;}
</style>

</head>

<body>

<p>BHRYBEMNTS T </p>

<p class="address">ME2E™A| T2 Cist=286</p>
</body>

</html>
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